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Pearson Edexcel — Monday 8 June 2020 - Paper 3 (Calculator) Higher Tier
1.

14

Points B, D, E and F lie on | circle.
ABC is the tangent to the circle at B.

Find the size of angle 4ABD.
You must give 3 rezson for each stage of your working.

(Total for Question 14 s 4 marks)

Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Higher Tier

2.



6 ADC s a triangls.

145"

G3°
b [

AED and ABC are straight lmes.
ER is parallel to DC.

Angls ERC = 1437
Angle ADC = §3°

Work out the size of angle EAR.
You mast gve 3 reason for each stage of your working.

{Total for Question § is 5 marks)

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier
3.



18 The podmis A, B, © and I¥ lie on a crcle.
CDE 15 a siraight line

i)

‘ €
D
Wik ol the size of angle ADE.

Youn musl give a reason for each stage of your working,

A

I

Bd= R0}
Ch=CD
Angle 450 = 40°

(Total fr Question 18 is § marks)

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier
4,



I

D

A, B and C are points on the circumference of a circle, centre O
DAE is the tangent to the circle at 4.

Angle BAE = 567

Angle CBO = 35°

Waork out the size of angle C40.
You must show all your working.

{Total for Question 12 §s 3 marks)

Pearson Edexcel - Monday 12 November 2018 - Paper 3 (Calculator) Higher Tier
5.



12 Here is a pyramid with a square base ABCD.

AB=5m
The vertex Tis 12m vertically above the midpoint of AC.

Caleulate the size of angle T4C.

{ Total for Question 12 ks 4 marks)

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier
6.



11

B
A and B are poinis on a circle, centre 3.

BC is a mngent o the circle.
AL is a swraight line.
Angle ABD =x%

Find the size of angle ACE, in terms of x.
Giive your answer in its simplest form.
Ciive reasons for each siage of your working.

{Total for Questbon 11 is 5 marks)

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier

7.



5§ ABC is a rnight-angled tnangle.

A

1lcm

=
C Tem B

{a) Work out the size of angle A5C.
Cave vour answer correct to 1 decimal place.

The length of the side AF is reduced by 1 cm.

The length of the side BC is sull 7em.
Angle ACE s sull 900

by Will the value of cos 48C increase or decrease?
Yo must give a reason for your answer.

(Total for Question 5 is 3 marks)

Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Higher Tier
8.



L]

A, B and C are points on the circumierence of a circle, cemre O
AQR s a diameter of the circle.

Prove that angle ACE is 90°
You must net use any circle theonems in your proof.

{ Total for Chuestion 20 s 4 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier

9.



1 The diagram shows a right-angled triangle.

All the angles are in degrees.

Work out the size of the smallest angle of the tnangle.

{Total for Quuestion 1 is 3 marks)

Pearson Edexcel - Sample Paper 2 - (Calculator) Higher Tier

10.



T

5 and T are ponts on the ciromnference of a circle, centre &
PT is a tangent o the circle.

S0P 1s & swaight line.

Angle OPT =32

Work out the size of the angle maried x.
You must give a reasan for each stage of your working.

(Total for Question 11 is 4 marks)

Pearson Edexcel - Thursday 26 May 2016 - Paper 1 (Non-Calculator) Higher Tier

11.



*20

Drizgram NOT
accurately dramm

R

P M amd 5§ are poinis on & circle, centre &
R5T is a tangent o the circle.

Angle P50 = 487
MP = M5

Work out the size of angle MS5T.
Give reasons for each stage of your working.

{Total for Question 20 is 5 marks)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier
12,



17

Diiagram NOT
acourately dramm

A, B, C and ) are pomts an the ciroumference of a circle, cenire &

AC is a diameter of the circla.
AC and BD intersect at E.

Angle CAR =25°
Angle DEC = 100°

Work out the size of mgle DAC.
“Yiou moust shor a1l your working.

_(Total for Question 17 is 4 marks)

Pearson Edexcel - Monday 9 June 2014 - Paper 1 (Non-Calculator) Higher Tier

13.



11

Driagram NOT
accurately drawn

A

B, C and I} are points on the circumference of a circle, cenoe 3.
ABE and ADF are rangents to the circle.

Angls D4R = 47
Angle CBE =735°

Werk out the size of angls QDC.

(Total for Question 21 is 3 marks)

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier
14.



*Il

Diagram NOT
accurately drawn

.1

A, B, Cand ¥ are points on the circumfierence of a circle, centre (.
Angle AW = y.

Find the size of angle ABC in terms of
Gitve a reason for cach stage of your working.

{Total for Question 22 is 4 marks)

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier
15.



16

Dizgram NOT
accurately dawn

7 F
5 and T are points on the circumference of a circle, centre €3,

PTis a tangent to the cincle.

S s a straight line.

Angle (PT=32°

Work out the size of the angle marked x.
Giive reasons for your answer.

{Total for Question 16 ks 5 marks)

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier
16.



[Hagram NOT
accurately drawn

A, B and I)ame points on the circumference of a circle, centre (1
B is a diameter of the cincle.

BC amd AC are tangents to the circle.

Angle OC8 = 347,

Work out the size of angle 34,

{Total for Question 19 is 3 marks)

Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier

17.



)i |

Diagram MNOT
sccurately drawn

A B

B, C and [} are poinis on the circumference of a circle, centre (2,
AB and Al are tangents to the circle,

Angle D4R = 50F

Work out the size of angle BCD.
Give a reason for each stage in your working.

{Total for Question 21 is 4 marks)

Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier
18.



1%

[riagram NOT
accurately drawn

A, B, € and £} are poinis on a circle, centre (.
BC =00

Aungle BOD = | 307

(a) Write down the size of angle BAD.
Giive a reason fOF YOUr answer.

1)
(b) Work out the size of angle U,
Giive reasons for your answer.

{Total & marks)

Pearson Edexcel - Wednesday 9 November 2011 - Paper 3 (Non-Calculator) Higher Tier
19.



C Diagram NOT

19.
accurately drawn

AB is a diameter of a circle.

C is a point on the circle.
D is the point inside the circle such that BD = BC and BD is parallel to CA.

Find the size of angle CDB.
You must give reasons for your answer.

(Total 4 marks)

Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier

20.



Diagram NOT
accurately drawn

All angles are measured i degroes.
ABC is a straight line.

Angle APB =x+ 50

Angle PAB =2x — 10

Angle FEC =y

{a) Show that p=3x + 40
(iive reasons for cach stage of your working.

(30

{b) Given that = 145,

(i) work ouwt the value of x,

{ii) work out the size of the largest angle in triangle ABP.

=

(41

{Total 7 marks)

Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier
21,



17. The diagram shows two similar triangles.

10 cm
A B Diagram NOT

accurately drawn

P fhcm o
18cm
12 cm
c R
In triangle ABC, AB= 10cm and AC = 18 cm.
In triangle POR, PO = 6cm and R = 12 cm.
Angle ABC = angle POR.
Angle CAR = angle RPQ.
(a) Calculate the length of BC.
. — 1
2)
(b) Calculate the length of PR.
. S
2)
{Total 4 marks)

Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier
22,



1.

Diagram NOT
accurately drawn

A, B, C and I are points on the circumference of a circle.
Angle ABD =547,
Angle BAC =128

(i) Find the size of angle ACD.

(ii) Giive a reason for your answer.

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

23.

8. Dizgram NOT
accurately drawn

x
A C n

ABC is an equilateral riangle.
ACD is a soaight line.

{a) Work out the size of the angle marked x.

{b) Give a reason for your ansver.

1))
(Total 3 marks)




Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier

24,

3.

Dizgram NOT
accurately drawn

The diagram shows a circle, cenlre O
A, B, Cand Dare painls on lhe circumferance of the circle.

Angle ABC = 128°,

‘Work oul The size af the angle markead x

(Total 2 marks)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier

25.



Diagram NOT
accurately drawn

POR is a straight line.
PT=P0Q.

(1) Work out the value of y.

(1) Give reasons for your answer.

(Total 4 marks)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier
26.



(=}

Diagram NOT
accurately drawn

A T B

P, @ and T are pomis on the ciovamference of a circle, centre &,
The lne 4TH is the tangent at I to the circle.

PO=T0.
Angle ATP = 58°

Calcalate the size of angle OT0.
Give a reason for each stage in your working.

(Total 5 marks)

Pearson Edexcel - Thursday 5 November 2009 - Paper 3 (Non-Calculator) Higher Tier
27.



15.

Diagram NOT
acourately deanm

c

B, I and E are points on a circle cenms &,
ABC is a tanpent to the circle.

EBE is a diameter of the circla.

Angls DBE =35,

{a) Find the size of angle ARD.
Give a reason for your answer.

(b} Find the size of angle DER.
Give a reason far your answer.

(Total 4 marks)




OCR GSCE — Monday 11 November 2019 - Paper 6 (Calculator) Higher Tier

28.

16 (a) In the diagram,

A, B and C are points on tha circumference of a crcle
0 is the cantre of the circle

angla OAB = 157

angle BCO = 10°.

B

HNot to scale

A

Calculate the acute angle ACC.

(3}

)|



(b) Inthe diagram,

E, F and D are points on the circumferance of the circle
G, Dand H lie on a tangent to the circle

angke EFD = 556°

angle FDE = 43°.

F

Mot to scale

Explain why angle HDF is 82°.

.. [4]



OCR GSCE — Thursday 6 June 2019 — Paper 5 (Non-Calculator) Higher Tier

29.

#An interior angle of an isosceles triangle is p® and an exterior angle is g°.

Not to scale

It is given that g = 5p.

(a) Write the ratic p : g in its simplest form.

(Y s . [2]

(b) Work out the two different possible sets of angles for the isoscelas triangle.
(b) Triangle 1: ......... s R =
Triangle 2: ........... % e s .

[4]



OCR GSCE - Tuesday 2 November 2017 — Paper 4 (Calculator) Higher Tier
30.

14 The diagram shows a cuboid ABCDEFGH.

A
DF— c
E Bem
B e =i F
Ggocm
H 11em G

Calculate angle BHF.

e * (5]



AQA GSCE — Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier
31.
22 A, Band C are points on a circle.

DCB is a straight line.
FPAQ is a tangent to the circle.

Mot drawn
accurately

Sam is trying to work out the size of angle m.

Here is his working.

angle ACB = 56° angles in the same segment are equal
m = 180" — 56" angles at a point on a straight line add up to 180"

m=124"

Make a criticism of his working.
[1 mark]




AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier
32.

19 The diagram shows a triangle and a trapezium.

Mot drawn
accurately

Provethat a=#5h

[3 marks]




AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier
33.

24 Here is a cyclic quadrilateral.

Mot drawn
accurately
x:y=5:7
Work out the size of angle w.
[4 marks]

Answer degrees




AQA GSCE — Wednesday 8 November 2017 — Paper 3 (Calculator) Higher Tier
34.

8 ABCD is a parallelogram.
AB = BP

Mot drawn
accurately

Work out the size of angle x.
[4 marks]

Answer degrees




AQA GSCE — Wednesday 8 November 2017 — Paper 3 (Calculator) Higher Tier
35.

19 A, B and C are points on a circle.

CD is a tangent to the circle.
Mot drawn
accurately

Write down the size of angle x.

Give a reason for your answer.
[2 marks]

Answer degrees

Reason




AQA GSCE — Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier

36.
19 A, B, C, D and E are points on a circle.

BFD and AFC are straight lines.
DC=DF

Mot drawn
' accurately

Work out the size of angle x.

You must show your working which may be on the diagram.
[4 marks]

Answer degrees




